4 (b)

small moveable pulley C, of mass m, kg. lkg
The string then passes over a smooth
fixed pulley and supports a mass of 1 kg.
The system is released from rest.
() Find, in terms of m, and m,, the tension in the string.
(i) The pulley C will remain at rest if R =k.
m, m
Find the value of k.
m, T = m, ( p) 5
Ikg T-g = Ig) .
m, m,g =2 = mz{p;q} 5
m,g—2T = My 1+T—g
2 |\m
3,8 _ oy 1T mT
2 2m, 2
3mm,g =4mT +m,T + mm,T
T = 3m1 m2 g 5
4m, + m, + mym,
(i) Cwillremain at restif m,g—-2T =0 or if —B;—q— =0
6m,m
m,g = 1M, 8
4m, + m, + mm,
dm, + m, + mym, = b6m,
mm, =2m, —m,
ot B
m, m
— ] 5 25
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A mass m, kg is at rest on a smooth
horizontal table. It is attached to a

light inextensible string. The string, m,

after passing over a small fixed pulley
at the edge of the table, passes under a




